2CP

B EILIR

ﬁﬂbl .

o ERIRE: 4501/min (27 m¥h)
° EEIATE: 112m

iz A3eHE

° RARFE: 7m
NERRE: -10°C ~+90°C
IREEE: -10°C ~+40°C
BARXI{EES: 10bar
(2CP25/130N>%6 bar)

° IFLEETHE S

SRR

EN 60335-1 EN 60034-1
IEC 60335-1 IEC 60034-1
CEI 61-150 CEI2-3
TAIE

PEAR AL (DNV) ETRIRZINIIE
FRE: 1509001
RE5%%L: 15014001

Ce

@

&, BX
e K
B
=l W

REMER

KFETHEBEKNASHERIRENRE, LRNSEES
HROZERMY , RRA. BRI Tz BroRRIERE  f5E
BT EDREEKIEB ERIE.

KRN ALRRAER DG, =D BERBEETESHIRST.

A] ik
o HETHIIM R E
o HEHBEROHAIER

* IPX5 BEIPERIERT
- 2CP32/200 —2CP40/180
—2CP32/210 — 2CP40/200



S JDEDROUO

the spring of life

tEaESERE 50Hz n=2900rpm HS=0m
(\) 2\5 | 5\0 | 7\5 | 190 | \US g.g.m.
0 25 50 75 100 Imp g.p.m.
120 L L L L L feet
5375
110 i
5350
100 305
300
90 -
5275
80 B
:250
X 70 !
Z 225
é!é N i
N i
7 60 200
£ i
E o
= 175
I =
[ i
T 150
2CP25/14 2CP32/210 i
40 2CP25/130N '\ 2CP25/16 2CP32/200 2CP40/180 2CP40/200 -
-125
30 5100
75
20 B
Eso
° \ :
25
00 50 100 150 200 250 300 350 400 450 I/min
(\) T 5 T T T 1\0 T T T 1\5 T T T T 2\0 T T T T 2\5 T T T T m3/H

Flow rate Q-iEZ2Q»




2CP

B TSR

50Hz n=2900rpm HS=0m
25 ‘US g.p-m.

0

20 !mp g-p.m.

70

65

60

55

50

45

40

35

30

Head H (metres) -37f2H (2K) »

25

20

15

10

2CP25/14A

I-200
2CP25/14B I

150
2CP25/130N

feet

H (feet)

100

HRE (CK)

2CP25/14 L0

2CP25/130N i

NPSH (feet)

1.8
1.6

1.4
1.2

0.8

MAIERP2(TR)

0.6

0.4

2CP25/14A

2CP25/14B

P2 (HP)

2CP25/130N 1

110 I/min

Flow rate Q-

4
REQ )

T T T T
m3h

CakiE]

BS

=

hEE(P2)

kw

HP

m%h

1.8

24

4.2 4.8 54 6.0

I/min

50 60 70 80 20 100

2CPm 25/130N

2CP 25/130N

0.75

1

2CPm 25/14B

2CP 25/14B

1.1

1.5

2CPm 25/14A

2CP 25/14A

15

IE3

37

34

25.5 22 18 15

H metres

50

47.5

44,5 41 37 33 28 22

57 54 50 45 40 32

Q=g

H=1712 HS=[Ri2

A =1ERBYLEEE S AI(EC-60034-30)

HHERASAE N 215 S ENI1SO 9906 3B4R.



S PEDROUO
-

the spring of life

B TSR

25

30

50Hz n=2900rpm HS=0m

3 40 4505 gpm.

20

25

30 35 ‘Imp g.p.m.

80

70

60

50

40

Head H (metres) -17FEH (3K) »

30

20

2CP25/16A

2CP25/16B

2CP25/16C

‘ ‘ I~ feet
250

H (feet)

N W s 010

RARE (K)

NPSH (feet)

24
22
2.0
1.8
1.6
1.4
1.2
1.0
0.8
0.6
0.4

BMNINZEP2(TR)

P2 (HP)

80

100

120

140 160 I/min

5

Flow rate Q -

T
6
REQ)

8 9 10 m3h

CakiE]

mS

=

In (P2)
kw HP

m%h

1.2

1.8

24

3.0

36 4248 54 60 66 72 84| 96

I/min

20

30

40

50

60 70 80 | 90 100 110 120 140 160

2CPm 25/16C

2CP 25/16C

1.1 1.5

IE2

2CPm 25/16B

2CP 25/16B

1.5 2

2CP 25/16A

2.2 3

IE3

H metres

47

46

45

44

42

40 38 35 33 30 27 24

58

56

55

54

53

51 | 49 47 45 43 40 37 30

68

67

65.5

64.5

63

62 60 58 56 54 51 48 41 32

Q=2 H=1H12 HS=[Ki2

A =1EEBYEEREFHR T (IEC-60034-30)

HHERASAE N Z 15 A EN SO 9906 3BLR.



2CP

M RAF TS HxR 50Hz n=2900rpm HS=0m
9 ‘ 1‘0 29 30 ‘ 40 50 60 US g.p.m.
9% 0 ‘ 19 %O ‘ 3‘0 4‘0 ‘ 50 Imp. g.p.m.
2CP32/200B B
80
- 250
(]
2 2CP32/200C B
5
HE 60 - 200
ﬁ =
I ()
B &
£ -
@ 50
£
T L 150
e
o 40
I |
30 - 100
2 |
6
—~ 5 | 16—
X, g
IHM 12 g
41"’ 3 g I
X 9 w
H . 2
g 1
0 0
6
45 B
40 i
= 5
H 35 el
N <
o 3.0 -4 =
B F
B 25 i
< g
= 20 B
1.5 2
0 20 40 60 80 100 120 140 160 180 200 220 240 I/min
\ | I I I T I I
0 1 2 3 4 6 7 8 9 10 1‘1 1‘2 1‘3 1‘4 1‘5 m’h
Flow rate Q 5i=Q»
BS In=E (P2) m¥h 24 30 36 | 42 48 54 60 66 | 75 84 96 108 120 150
E*H kw HP A I/min 0 40 50 60 70 80 90 100 110 125 140 160 180 200 250
2CP 32/200C 3 4 70 | 66.5 655 65 64 63 62 | 60.5 59 57 55 52 | 495 465 36
IE3 | H metres
2CP 32/200B 4 5.5 85 81 80 79 78 77 76 75 74 72 69 66 62 58 49

Q=i8 H=#HiE HS=[RiZ

A =EEBHEER S (IEC-60034-30)

HAERAFIE N Z7F A EN 1SO 9906 3B4R.



S PEDROUO
4

the spring of life
HEFHEMSHR 50Hz n=2900rpm HS=0m
o, I N » & 0w  Usgm
0 ‘ 10 20 ‘ 30 40 ‘ 50 ‘ QO Imp. g.p.m.
120
2CP32/210A
110
b 350
100
-~
9 2CP32/210B
K
T 90 I 300
i)
= g
- 80 2‘-:
()
=} I 250 X
£
= 70
- o
<
[}
@
I 60 I 200
50
b 150
40
6
0 5 F16 <
X 4 i
N 12 @
ﬂﬂ 3 s =
i N
I 2
0 0
8 A 10
7
2 6 === B
H o £
~ | 6 o
E 4 / L
v/ [
< 2
& o
1
0 0
0 20 40 60 80 100 120 140 160 180 200 220 240 260 280 l/min
\ \ I I \ \ I I I I \ \ \ \ I \ \ \
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 wh
Flow rate Q -i=Q»
BS INZR (P2) Q m¥h | O | 24 30 36 42 48 54 60 66 75 84 96 108 120 150
E*H kw HP A 1/min 0 40 50 60 70 80 90 | 100 110 125 140 160 180 200 250
2CP 32/210B 5.5 7.5 94 94 935 93 92 91 90 89 87 85 83 79 75 70 56
IE3 | H metres
2CP 32/210A 7.5 10 112 11 1 110.8 | 110.5 110.3 110 109 | 108 107 105 102 99 94 89 74
Q=i H=1H1E HS=[Ri2 HHEFFAENZETTS ENISO 9906 3BZK.

A =EEBHEER S (IEC-60034-30)



2CP

B RS ES R 50Hz n=2900rpm HS=0m
(\) I I I 2\5 I I I 5\0 I I I I 7\5 I I I I 1(\)0 I ‘USg.p.‘m.
900 | | | | 2\5 | ! | | 5\0 ! | | | 7\5 | | | Impg.p.‘mA feet
2CP40/180A :
80 |
250
2CP40/180B |
n=57%
Z i
% |
E:I|H:4 2CP40/180C 3
He 1200
s 60 .
I ()
A -8
o B =
@ 50 i
E
150
b =
> |
o 40 |
I -
30 100
20 ]
6 -
— 5 16 —_—
¥ A c A-B LB
Z L2 @
i 3 £
& ® i
?j -4 e
i 1 =
0
9 12
8 |
~ - A Lo
Llj |
H 6 e B 8
N—’ - &
N 5
o c e E
o4 LQ
= 3 4
<, — [
& B
1 |
00 20 40 60 80 100 120 140 160 180 200 220 240 260 280 300 320 340 360 380 400 420 440Umin
o 2 4 6 T8 T4 T o2 T o T 6 T o T 0 2 % mn
Flow rate Q 5i=Q»
BS =R (P2) m¥h 6.0 6.6 75 8.4 2.6 108 | 120 | 150 | 18.0 @ 21.0 240
= kW  HP | a I/min 0 100 110 125 140 @ 160 180 200 | 250 300 350 400
2CP 40/180C 4 55 64 62 61 60 59 58 56 54.5 49 43 35
2CP 40/180B 5.5 7.5 IE3| H metres 76 73 72.5 72 71 70 69 67.5 64 59.5 54 46
2CP 40/180A 7.5 10 88 85 84.5 84 83 82 81 79.5 76 72 67 60
Q=78 H=#HE HS=I}E HIEAFAENZERTS ENI1SO 9906 3BZR.

A =1EEBYEEREFHR T (IEC-60034-30)



S PEDROUO
4

the spring of life
H RS EMSBR 50Hz n=2900rpm HS=0m
5\0 | | 190 | | us g.p‘.m.
50 100 Imp. g.p.m.
110 : : feet
350
2CP40/200A
100
2CP40/200B
-~
;-I% 90 [ 300
T
i)
= g
= 80 &
g
= 050 &
£
- o
s 10
[}
@
- o
60 200
50
~ 8 25
7\% 6 20 §
I Lis =
4|'iﬁ',|ll‘ 4 / T
N 10 W
#H s
g | 5
0 0
11
14
10 A
Ld 13
H 9 B L2
et o
N ) n I
1 o
a 10 &
B 7
< Lo
B
= 6 -8
5 L7
50 100 150 200 250 300 350 400 450 I/min
‘ 5 R ‘ 15 ‘ 2 "% ‘ "
Flow rate Q -i=Q»
BS =R (P2) a m¥h 0 6.0 9 10.8 12.0 15.0 18.0 21.0 24.0 27.0
=+g kW HP | a I/min 0 100 150 180 200 250 300 350 400 450
2CP 40/200B 9.2 12.5 97 94 92 90 88 85 80 74 68 61
IE3 | H metres
2CP 40/200A 1" 15 105 102 100 98 97 93 88 83 76 69
Q=2 H=HE HS= [ki2 ML AE N Z TS EN SO 9906 3BZR.

A =EEBHEER S (IEC-60034-30)



2CP 25/130N

RS AT LHA%FE
1 FBR BEFAIS0 228/1184503% 0
2 RiEIHRSE AISI 304A45E5N
3 &g AISI 304A45E5N
4 @i EN 10088-3 - 141047455
5 =R Zif w #HE
E =17 B I R
AR-14 @14 mm FEgE H2& NBR
6 HhiK 6203 ZZ /6203 ZZ
7 BE E~2 BE
o) (230V or 240V) (110V)
2CPm 25/130N 20 uF - 450 VL 60 uF - 300 VL
8 Hi# 2CPm 25/130N: E24H 230 V - 50 Hz S4B N B IS HVRIP

2CP 25/130N: =#HHEE#/1230/400 V - 50 Hz

w =HE7KIRZEEL IE2 (IEC 60034-30)F XEEH
- RIBEE F R

- FHIPEEL: 1P X4

==

I
il

| -L‘l“- |

T

e
L HHHHH\E’].

ii
il .

—
—




S PEDROUO
-

the spring of life

RIfEE

Bs a& JRfmm kg
f=2b ] = DN1 = DN2 a f h h1 h2 n n1 w s 1~ 3~
2CPm 25/130N | 2CP 25/130N 1%" 1” 73 330 201 92 109 180 142 1 10 14.5 14.4
19N
s HBE BS HBE
=<p s 230V 240V 1MoV =g 230V | 400V = 690V | 240V | 415V | 720V
2CPm 25/130N 6.3A 6.0A 12.6 A 2CP 25/130N 46A  26A 15A 43A 25A  14A




2CP

RS AT ZF4FE
1 #k0O SEHAISO 228/1t853E M
2 HkO FEEAFRISO 228/148283% 0
3 Mg =i
4 B EN 10088-3 - 1.4104 454N
5 i = & & HE
E BE = B T "B
2CP 25/14 .
2CP 25/16 FN-18 @18 mm A= fgE NBR
2CP 32/200 FN-20 @20 mm Az IgE NBR
2CP 32/210 .
2CP 40/180 FN-24 @24 mm A3 FFE NBR
2CP 40/200 FN-32 NU @32mm Az (GRS NBR
6 iR ® ®E
2CP 25/14
CP 25/16 62042Z-C3/62042Z-C3
2CP 32/200 6206 ZZ - C3 /6206 ZZ - C3
2CP 32/210
CP 40/180 6306 ZZ-C3 /6206 ZZ-C3
2CP 40/200 6308ZZ-C3/63082ZZ-C3
7 HE = BE
HiE (230V or 240V) (110V)
2CPm 25/14B
2CPm 25/16C 25 uF - 450 VL 60 pF - 250 VL
2CPm 25/14A
2CPm 25/16B 45 pF - 450 VL 80 pF - 250 VL
8 H#l 2CPm: 248 230 V - 50 Hz SR BT #RIP

2CP: =4 kWLLATF/9 230/400V - 50 Hz
5.5 ~ 11 kW9 400/690 V - 50 Hz
w =HEK R EEE S EB
P2=1.1kW LU IE2 B4 P2=1.5kW L\_E9IE3 (IEC 60034-30)EE /],

- RIS FR
- B5IPE4: 1P X4

= [l—
&N
- |

\777 : I




S PEDROUO
-

the spring of life

RIfEE

Bs Az R mm kg
EAig =% DN1 DN2| a f h hi h2 n nl w s 1~ 3~
2CPm 25/14B 2CP 25/14B 223 93 130 200 162 17 10 19.3 18.8
2CPm 25/14A 2CP 25/14A 261 110 151 225 185 26 M 24.6 23.5
2CPm 25/16C 2CP 25/16C 1% | 1" 82 404 223 93 130 200 162 17 10 19.3 18.6
2CPm 25/16B 2CP 25/16B 24.4 23.3
261 110 151 225 185 26 1
- 2CP 25/16A - 24.6
: ;g: :;ggg: 1" " 95 464 304 132 172 266 206 19 : i:g
- 2CP 32/210B 542 - 54.0
- 2CP 32/210A - 61.0
- 2CP 40/180C 108 496 334 139 195 292 14 - 49.0
- 2CP 40/180B 2" 549 232 21 - 54.0
- 2CP 40/180A 1%" - 60.0
- 2CP 40/200B - 90.0
~ 2CP 40/200A 110 566 355 160 195 298 _ 91.0
M £

BS BE BS
L] 230V 240V 1ov L2iE] =M HEKREE BEKREE
2CPm 25/14B 77A 7.4A 15.5A 2CPm 25/14B 2CP 25/14B 50 70
2CPm 25/14A 10.5A 10.0A 21.0A 2CPm 25/14A 2CP 25/14A 50 70
2CPm 25/16C 7.7 A 7.4A 15.5A 2CPm 25/16C 2CP 25/16C 50 70
2CPm 25/16B 10.0 A 9.6 A 20.0A 2CPm 25/16B 2CP 25/16B 50 70

- 2CP 25/16A 50 70

- 2CP 32/200C 18 24
e HBE - 2CP 32/200B 18 24
— - 2CP 32/210B 12 16
= 230V | 400V 690V | 240V | 415V 720V - 2CP 32/210A 12 16
2CP 25/14B 54A 31A 1.8A 52A 3.0A 17A - 2CP 40/180C 12 16
2CP 25/14A 69A 40A 23A 6.6A 3.8A 22A - 2CP 40/180B 12 16
2CP 25/16C 54A| 31A 1.8A 52A | 3.0A 17A - 2CP 40/180A 12 16
2CP 25/16B 69A 40A 23A 6.6A| 3.8A 2.2A - 2CP 40/200B 6 9
2CP 25/16A 9.2A | 53A 3.1A 88A 51A 29A - 2CP 40/200A 6 9
2CP 32/200C 12.8A 74A 43A [123A | 71A  441A
2CP 32/200B 18.2A |10.5A | 6.1A | 17.7A 10.2A | 5.9A
2CP 32/210B 21.7A 125A 7.2A [ 199A [ 11.5A  6.7A
2CP 32/210A 27.7A 16.0A 9.2A 26.0A 15.0A 8.7A
2CP 40/180C 17.0A  9.8A 5.7A 16.5A  9.5A 5.5A
2CP 40/180B 21.3A |123A | 71A 20.8A 12.0A 6.9A
2CP 40/180A 26.7A | 15.4A | 89A 26.0A 15.0A  8.7A
2CP 40/200B - 175A 10.1A - 17.45A 10.0A
2CP 40/200A - 20.0A | 11.6 A - 19.9A | 11.5A




2-4CP

BRBEILER

&, BK

i KA

o BARE: 1301/min (7.8 m¥h)
* REHE: 52m

iz AJEE

* RKIKFZE: 7m

e NEIRE: -10°C~-40°C
o INIZBE: +40°C

e AXT{EESI: 6bar

° FEETAE S

SR LR

EN 60335-1 EN 60034-1
IEC 60335-1 IEC 60034-1
CEI 61-150 CEI2-3
AE

EAE et (DNV) BIBERIAIE
RE: 1509001
MESZ%4: 15014001

Ce

€

REMER

KFETHEBEKNASHZBRERRIK. LRERES/
T ZizATERE a0 F/NELE DL KFNEE. REER
E

=Fo

KRN SERRERDNG, REDBREBETESHRST.

TH - B -8S

o RRERIZITFAS 002073635-0001

A]i%
HE B ER60 HZ3RZR



S PEDROUO
-

the spring of life

thEFHEMSBR 50Hz n=2900rpm HS=0m
: ; 0, ; .2 % 0 Usgem
0 19 1§ 29 2§ ‘Impg‘.p.m.
55 feet
50 4CP80-C i
45 4CP100-C 150
40 i
a 3CP80-C
ﬂé 3 3CP100-C i
I
% 30 3CP60-C 100
'g o5 2CP80-C i
@
£E i
2
z i
o
T 15 -50
10 B
5 i
0 0
0 10 20 30 40 50 60 70 80 90 100 110 120 130  I/min
(\) T T T T 1\ T T T é T T T T é T T T T )1 T T T T 5\ T T é T T T T % T T T T é ‘m3/h
Flow rate Q-E2Q»
BS = (P2) Qm3/h 03 0609 12 15 1.8 24 30|36 42 48 54 60 66 72 78
Bt = kw HP I/mn 0 5 10 15 20 25 30 40 50 60 70 80 90 100 110 120 130
2CPm 80-C  2CP 80-C 0.37  0.50 27 26 25 24 225 21 20 165 13 9 5
3CPm 60-C | 3CP 60-C 037 | 0.50 30 30 29 | 28 (265 25 235 20 16 115 7
3CPmM 80-C  3CP 80-C 0.45 0.60 40 38 37 36 345 33 31 27 225 17 11 5
H metres
4CPm 80-C | 4CP 80-C 0.55 0.75 52 50 | 49 | 47 (445 42 | 40 | 34 285225 16 10
3CPm 100-C | 3CP 100-C 0.55 0.75 38 37 36 35 345335 33 31 28 26 23 20 17 135 10 5
4CPm 100-C | 4CP 100-C 0.75 1 50 50 | 49 48 47 46 | 45 | 42 395 37 | 34 305265 22|17 11 5

Q=78 H=#H Hs=[Ri2

BHERASE N Z=RFE EN1SO 9906 3BLR.



2-4CP:  =#%H230/400 V - 50 Hz.

s —+E7K R ZEHLD IE2 (IEC 60034-30)5 3B
- RIBER: FR

- BHIPEER: IP X4

_s\l\l\l\\l\l\l\l\l\\I\I\|\|\|\|\\I\I\|\|\I“I\I\I\I\I“I\I\I\I\I.o )

I——— 7

ﬁk

ook

e At ZF4FE
55 SEEREBIKANIE , SISO 228/1 1883z
RERins | AISI 3044455X
4 FE1520PWER &4
SiR5s TR ESY)
B EN 10088-3 - 1.4104 455N
i & w HE
BE V=1 F:278 A V=93
AR-13 @13 mm B’ﬁjﬁ A5 NBR
i £~ BE
2CP 80-C
3CP 60-C
3CP 80-C 6202ZZ-C3/62012Z
4CP 80-C
3CP 100-C
4CP 100-C 6203 ZZ /6203 ZZ
By = BE
Hig (230V or 240V) (110V)
2CPm 80-C
3CPm 60-C 10 pF-450VL 25 uF - 250 VL
3CPm 80-C 12.5 uF-450 VL 25 yF -250VL
4CPm 80-C
3CPm 100-C 14 uF-450VL 25 uF - 250 VL
4CPm 100-C 20 pF-450VL 60 uF - 300 VL
210 2-4CPm: E2#8 230 V - 50 Hz LA B TR




S PEDROUO
-

the spring of life

RIfEE

DN2

2
B no# R~fmm kg

EH =% DN1  DN2 a f h h1 h2 h3 n n1 w s 1~ 3~
2CPm80-C  2CP80-C 90 9.0
3CPM60-C  3CP60-C 85 | 307 90 9.0
3CPm80-C |3CPa0C "o 234 3 2 s me 15 9 38 | 93
4CPm80-C  4CP80-C 110 332 1.3 105
3CPM100-C  3CP100-C 85 | 307 104 9.9
4CPmM100-C  4CP 100-C 110 | 356 191 13.4 134
19N

B BE B= BE

i 230V 240V 110V =1 230V | 400V | 690V | 240V | 415V 720V
2CPm 80-C 2.4A 2.3A 4.8A 2CP 80-C 1.7A | 1.0A 06A 16A 09A 0.5A
3CPm 60-C 2.4A 2.3A 4.8A 3CP 60-C 1.7A | 1.0A 06A 16A 09A 0.5A
3CPm 80-C 3.4A 3.3A 6.8A 3CP 80-C 25A  1.5A 09A 24A 14A 08A
4CPm 80-C 41A 4.0A 8.2A 4CP 80-C 34A 20A 12A 33A 19A  11A
3CPm 100-C 41A 4.0A 8.2A 3CP 100-C 34A 20A 12A 33A 19A 11A
4CPm 100-C 6.0 A 5.8A 12.0A 4CP 100-C 45A  26A 15A 43A 25A 14A
&

BE

g =t HEXREE BIEKREE

2CPm80-C  2CP80-C 98 140

3CPm60-C  3CP60-C 98 140

3CPm80-C  3CP80-C 98 140

4CPm80-C  4CP80-C 98 140

3CPM100-C  3CP100-C 98 140

4CPmM100-C  4CP 100-C 84 108




